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. Write “T” for “True”, “F” for “False”.

IM is the short form of “Instant Messaging”. | J|
IM is often associated with leisure time.[ | .
Instant Messaging is an inefficient communication method._J

Face to face meetings are the most effective way to communicate with workmates. \_| o

Instant Messaging is replacing the email and the phone in professional communications. ]

. Circle the correct option according to the text.

. People used to think that IM was...

a) for the exclusive use of young people. b) unimportant for teens.

. People consider IM...

a) dangerous. b) fast.

. The use of IM has been ...

a) increasing. b) decreasing.

. IM was introduced in the workplace by...

a) the employers. b) the managers.
The spread of IM can be compared with ...
a) a viral infection. b) an addictive behaviour.

c) totally useless.

c) intrusive.

c) the same over the last 50 years.
c) the workers.

c) a general madness.



